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1 Introduction
In RAN4 #48bis meeting, RAN4 sent an LS [1] to RAN2 with following agreed text:

RAN4 discussed different approaches for the TTT operation in DRX and there was consensus that UE is expected only to evaluate the event triggering during the active time (on-duration), i.e. the TTT should not need to be evaluated or trigger during DRX when the UE is assumed not to make new measurements. There was also consensus in RAN4 that for event-triggered reporting in DRX mode, the UE would only be required to send a measurement report during the active time immediately following the expiry of TTT.
In last meeting, it is suggested in [2] that when the TTT is shorter than the DRX cycle in use the UE shall not use TTT i.e. TTT = 0 for that particular DRX cycle. Since this proposal is inline with the agreements that “the TTT should not need to be evaluated or trigger during DRX when the UE is assumed not to make new measurements”, RAN4 does not need to send an additional LS to RAN2 if RAN2 can correctly capture the agreements in the LS sent in RAN4#48 bis.
However, we feel that there are still some issue which needs further clarification or consideration. In this document, we point out this issue and propose the way forward.
2 Discussion
Both in the agreed LS [1] and the contribution [2], it was indicated that TTT should not need to be evaluated or triggered during DRX when the UE is assumed not to make new measurements. When DRX cycle is larger than TTT and UE knows that it would not make any new measurements during the TTT, such agreement would avoid the unnecessary delay for measurement report.
However, we feel that the agreements in the LS sent to RAN2 still seem not clear and may cause some unnecessary delay for UE sending measurement report when DRX is smaller than TTT.
As indicated in [2], some practical and typical values for time to trigger (TTT) are in the range between: 200 ms to 640 ms; the actual value is dependent upon particular scenario. DRX cycle length can be in the range between 2 ms and 2560ms. We can give some examples in the following figures to see how much the unnecessary delay would be when DRX cycle is smaller than TTT.
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Figure 1 Unnecessary Delay if Following the Agreement in the LS [1]
In the above figure, we can see that when DRX cycle is smaller than the TTT, according to the agreements in the LS [1], there would be new measurement or measurements during the TTT, so the TTT would be triggered and a measurement report during the active time immediately following the expiry of TTT on “Time 1”.
However, that would cause some unnecessary delay because between “Time 2” and the expiry of TTT, there would be no new measurement and furthermore additional time is needed to wait the active time in next DRX cycle after the expiry of TTT. So we think that sending the measurement report during the last on duration within the TTT would be beneficial since this can avoid the performance degradation of handover caused by the unnecessary delay.
Therefore, based on the observation above, we give our proposal as below:
If the TTT is started but the UE knows it will not receive any further measurement report from lower layer for the concerning cell, the UE is allowed to trigger the measurement reporting during the active time before the TTT has expired.
3 Conclusion 

In this contribution we pointed out and discussed the issue of the current agreements on TTT for measurement report in DRX. We also give our proposal to solve this issue. If this proposal is acceptable, we suggest RAN4 send an additional LS to RAN2 to clarify this issue and to let RAN2 correctly specify the UE behaviour in RAN2’s specification.
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